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Question No : 1

An Activity to resubmit a rejected request is provided by the business process. This Activity
should go back to the same approver that examined it before. Which user assignment in
the WebSphere Lombardi Edition Routing section would you use?

A. Routine Policy

B. Lane Participant
C. Last User in Lane
D. List of Users

Answer: C

Question No : 2

"Escalations" are used in WebSphere Lombardi Edition modeling to:

A. automate processes by using non-human tasks

B. add a level of sophistication to the process model

C. improve the process by solving problematic tasks

D. make sure metrics relating to process cycle times are met

Answer: D

Question No : 3

After a simple split, the process will end when the first token encounters an End event.

A. True
B. False

Answer: B

Question No : 4

IBM BPM Blueprint can generate which types of documentation for a Process Map and
Diagram?
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A. Word document

B. Excel document

C. PDF document

D. PowerPoint document
E. HTML document

Answer: A,B,C,D

Question No : 5

The developer creates a complex type to represent personal information and needs to
include phone numbers. The developer must include cell, home and work numbers. In this
situation, why would the developer create a list of another complex structure type?

A. People have varying amounts of phone numbers and you don't want a lot of empty
variables.

B. The developer does not have to change the data structure to add additional phone
numbers later.

C. There are no advantages to structuring data this way. It just depends on your database
structure.

D. None of the above

Answer: A,B

Question No : 6

The developer wants to build a service that does not use business rules or integrations, but
that generates some CSS for a Coach. What Service will the developer use?

A. Ajax Services

B. Rule Services

C. Human Services

D. Integration Services

E. General System Services

Answer: E

Question No : 7
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If two different message events are attached to the same UCA, selecting Consume
Message on each of them will ensure that the message is only picked up once.

A. True
B. False

Answer: B

Question No : 8

A routing policy defined on the WebSphere Lombardi Edition Routing Tab of an Activity can
be used to assign a task to a specific group or user.

A. True
B. False

Answer: A

Question No : 9

The process documentation Word export from IBM Blueprint includes the process diagram.

A. True
B. False

Answer: B

Question No : 10

At the BPD level, a private variable and input variable can have the same name.

A. True
B. False

Answer: B

http://certkill.com 4


http://certkill.com
http://certkill.com

CERTKILL

IBM 000-171 : Practice Test

Question No : 11

Given a process where in one step an agent enters a refund amount, and in the next step a
manager either Approves it or Rejects the refund. In the approval step, the variable refund
Amount will be mapped as:

A. private

B. input

C. output

D. output and private
E. input and private

Answer: B

Question No : 12

When routing to "Lane Participant,” the Task will be assigned to the Participant group
defined for that swim lane.

A. True
B. False

Answer: A

Question No : 13

Which of the following is not a common usage of a Timing Interval?

A. Determines the time taken to complete a single activity.

B. Track the time spent on specific steps within a Service or Activity.

C. Track the total time spent on an Activity that may execute multiple times.

D. Track the duration of a series of activities that comprise a single logical function.

Answer: A

Question No : 14
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What is the proper way to add a parameter to a Java Integration Component?

A. Add a parameter to the Human Service.

B. Add a parameter to the General System Service.
C. Add a parameter to the Integration Component.
D. None of the above

Answer: D

Question No : 15

Select the true statement(s) from the following statements.

A. A single UCA can be attached to multiple Message Events.

B. A single Background UCA Service can be attached to multiple UCAs.

C. ATime Elapsed UCA can be directly invoked from with a Service.

D. A Event UCA's Background UCA Service must always have at least one input
parameter.

E. The input and output variables of a Background UCA Service must match.

Answer: A,B

Question No : 16

Refer to the Exhibit. What business rule might the first condition in the Rule Script below
represent?

ule Conditions (IF) d B T
salaryAmournt qualificationLevel Action Requirement j_l
" 1 I ¢ 30000.00 ., 5000000 } | {4 "minimally”, "moderately™} | Approval automatic |
2 < B0000,00 “adequately” Approval automatic
‘ 3 Approval required
4
=
= ;I_l

A. If a candidate's salary is 30,000 or 50,000 AND the candidate is minimally or moderately
gualified, then automatically approve the job offer.

B. If a candidate's salary is between 30,000 to 50,000 AND the candidate is minimally or
moderately qualified, then automatically approve the job offer.

C. If a candidate's salary is between 30,000 to 50,000 OR the candidate is minimally or
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moderately qualified, then automatically approve the job offer.
D. If a candidate's salary is 30,000 or 50,000 OR the candidate is minimally or moderately
gualified, then automatically approve the job offer.

Answer: B

Question No : 17

If the activity "Rework™ in a process is performed by both "Reworkers" and "Assembly
Operators”, then:

A. create a separate process for each and link the process back to the higher level
process.

B. duplicate the activity in both the Reworker swimlane and in the Assembly Operator
swimlane.

C. use a nested process in order to create two participant swimlanes for that activity and
then assign the task to the first available participant.

D. choose the group that is ultimately responsible for the rework and if both parties are
responsible, then create a swimlane that includes both participants.

Answer: D

Question No : 18

Based on Blueprint best practices, how does the decomposing a process begin?

A. Mapping out the expected path (happy path) of the process first.

B. Mapping out the expected path (happy path) and a few other exception paths alongside.
C. Mapping out all the paths simultaneously so that that the subject matter experts do not
lose the train of thought.

D. Mapping out the exceptions first because mapping out the expected path (happy path) is
easy and can be done any time.

Answer: A

Question No : 19

Using our suggested naming convention, how should the following variable and variable
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